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Display Number Panel: Yes

Group All Questions: No

Question Number : 1 Question Id : 1017174961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following.

A)
B)
C)
D)

Sod

A)
B)
C)
D)

List-I List-II

Gaspard Baulun I) Bacterial cell

Robert Hooke II) Bionomial nomenclature
Anton Van Leeuwenhoek II) Sexual reproduction in plants
Camerarius IV) Micrographia
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The correct answer 1s
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Question Number : 2 Question Id : 1017174962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inplant *A’, sporophyte is not free living. ‘B’ zygote represents short lived sporophyte. ‘C’
mdependent gametophyte and sporophytic generations. The organisms A, B and C are
respectively

‘A ol 3§ ST DY dado KEo £ 0, B’ S° Hooing Hasn 50508 B
DN, ‘C’ & BoBriidcsn 08050 HEDeESw Bodr dgdod Sen. A, B 500050
C #Hen I50dm,
Options :

Volvox, Lycopodium, Marchantia

T8, T8FAavo, droy o0dr

Lyveopodium, Volvox, Marchantia

TE°FRo00, Tro%s), Aroy onolr

Marchantia, Volvox, Lycopodium

oy 0008, Tens), S§&@oNo

w

Marchantia, Lycopodium, Volvox

Sray onodr, S8 FdoDo, TN

Question Number : 3 Question Id : 1017174963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the correct statement from the following.
A) Inpheophyceae members the cell wall is covered by gelatinous coating called algin.
B) Mosses. along with lichens are the first organisms in the Xerarch succession.

C) All bryophytes are not homosporous but show heteromorphic alternation of
generations.

D) Some chlorophyll bearing thalloid organisms grow in association with sloth bear.

808 7¢e5° HBGOS wozrol MHJokod
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Options :
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Question Number : 4 Question Id : 1017174964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the wrong statements from the following.
A) Mannitol is present in Gracillaria.

B) Gelidium stores floridean starch.

C) Tolvox stores starch in pyrenoid.

D) Laminarin is present in Ulothrix.
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Question Number : 5 Question Id : 1017174965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the wrong statement from the following.

Bo& a8 Sr0& H05°) wozd) HfoWod

Options :
In cyathium stamens are arranged in polychasial cyme pattern around a single female
flower.

DOSTrE TS 2.8 @ HAY0 Wty IS THoe I FHOH IS IFTS0S* w0
€ 0&I°000.

In Australian Acacia. leaf 1s pinnately compound and petiole is phyllode.

BRO0HS @EHAS® HFo HIFE Hoosngorr, HES) 0 HHSOT 0kD.
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Tubular corolla 1s present in disc florets of Asteraceae members.
30H O JE YRFOS” ok

T95°5°6 es8deo HE S esPYOD

w

In Sahia and Brassica show variation in lengths of filaments in a flower.
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Question Number : 6 Question Id : 1017174966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following.
List-I List-II List-ITT
A) Thom ) Umbel 1)  Bougainvillea
B) Unisexual flower  II) Polychasial cyme 11)  Cocos nucifera
C) Stolons I) Spadix 11) Nerium
D) Storage root IV) Cynule v) Carrot
1808 TrAD 2EIETDD
el eIl erd)a-lIl
A) Sy D Do 1) 5905
B) 28dors HAyo ) exTdas JFEo i) &5 Srgdaor
C) &os o) a8 1) 8o
D) Qdeg T I IV) dorgd V) s°6¢5
The correct answer 15
B0 DSTTTHH0
Options :
A B C D
IVVi IIla IL.in  Liv

A B C D

Vi OLi IV L
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Question Number : 7 Question Id : 1017174967 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Identify A. B. C. D in the given diagram of Monocot seed

5505 SrDd D86 Ha G505 A, B, C. D ood H30SE»

Options :
Pericarp. Cotyledon. Perisperm. Plumule
Do §35%0, NadEo, HBOEG0, HES sTodo

Coleoptile. Scutellum. Cotyledon. Radicle
@P08088080, o BYM, DadFo, HES Sreo

Lo

Coleorhiza. Endosperm. Scutellum. Coleoptile
DTreroBG S0t E0, @o&dzﬁaéo, c“:ob@e_gjﬁz., gek:ble1-{oRnbl:to)

Radicle. Cotyledon. Endosperm. Coleorhiza
" BEH Soreo, HREE0, wodGHG0, Sorerosd §owso

Question Number : 8 Question Id : 1017174968 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Match the following

List-1 List-1II
A) External fertilisation 1) Viola
B) Autogamy 11) Marchantia
C) Hypohydrophily 1) Cladophora
D) Dioecious condition V) Zostera
v) Vanda
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A) erirghebsd 1) JSodrer
B) ©go%o Hod@risn i) oy onoflr
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The correct answer 1s
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Options :
A B C D
\Y v 1 11
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L
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Question Number : 9 Question Id : 1017174969 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Find the correct statements among the following
A)  Sporopollenin can be degraded by some enzymes

B) By maturation and hydration of anthers microspores dissociate and develop as
pollengrains

C) Gamopetalous plant ovules have single integument

D) Stigma is thin and smooth in anemophilous plants

808 70 HBFS wozed MHiowsod

A) £ IdBwew 5736"@6&)563 §0A0SKeD

B) Sood Saren IE(EF5 IHOFD 98 IroddYHdy drE) dEdaren dA&Fow
HoeidEnHT WHIH BoeEon

C) marHird 3o e ©07%) 5000 &8 ®odsSSo €otnod

D) &oSndoed H058,0 26 3o Serren Hendm, DT €otron

Options :

, BCD

ABC
BC

CD
4.

Question Number : 10 Question Id : 1017174970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Genetic mechanism of inhibiting its own pollen germination: Persistent nucellus in seed.:
nucellus gives rise embryos are showing in these plants respectively

o Horridenen InesEson DD 2oy Howod 0Iro@8S50; DES5S50e* A0S
WOFT0S: $292300 SOOI LOT0H: Se7e0 HOT Q) Ddgdzfn S0 e SEJm
Options :

Solanum, Coconut, Grape

&Frerda, Fend, \&°8
1 2/

Danira. Castor, Banana
5 GArY, 28500850, wEES

-
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Hibiscus. Black pepper. Apple

DoT°E, dosTren, wHS
Abutilon. Beet. Citrus
e élerd, HE, HLD

Question Number : 11 Question Id : 1017174971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : In Angiospermic phylogenitic group systeny. the arrangement of plants
show progressive or retrogressive characters.
Reason(R):  Evolutionary trends are the basis for phylogenitic system of classification.

APF0 (A) | 202@BrY0 5 PSBIGE () S§S5PS° oG o 008 HFrH Bo
&5 oFegren S
562050 (R) @ 3¢0s70 50860 Sgddess H0emd (B ©BS)Hen sresw

Options :
(A) 1s true. (R) 1s true and (R) 1s correct explanation of (A).

(4) 500050 (R) 00 $0@052 5005 (R) w050 (A) 8 538 23562

(A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 500050 (R) o0 383308 570 (R) @S58 (A) 8 988 D56 57

(A) 1s true, (R) 1s false.
, (8) 90658, (R) 0G50 6k

(A) 1s false. (R) 1s true.

4 (A) 8033356 565, (R) BOG0S6

Question Number : 12 Question Id : 1017174972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Assertion (A) : Living organisms work continuously because of non-equilibrium steady
state.

Reason(R):  Metabolism of living organisms is continuous energy production
mechanism to attain living state.

DHFo (A)  © 2Hew J60E60 IIVoNEFIS 57600 JHe P8 B HES JOEERS
§dAer0ddo

5650 (R) : #Joe* £5800en Hos60 8 & Toxn 325988 G* S EHd e 0w
Options :

(A) 1s true. (R) 1s true and (R) 1s correct explanation of (A).
(A) 58050 (R) o0 38659 518050 (R) 05058 (A) $ 888 25620
1.

(A) and (R) are true but (R) 1s not the correct explanation of (A).
. (A) 308050 (R) o0 85833088 570 (R) @88 (A) $ 988 D56 576

(A) 1s true. (R) 15 false.
(A) 3863088, (R) 803086 5265

(A) 1s false. (R) 1s true.
; (A) 90530856 5268, (R) 805058

Question Number : 13 Question Id : 1017174973 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following statements.
a)  Ribosomes and Nucleolus are not membrane bound structures.
b)  Tonoplast facilitates transport of ions against concentration gradient into the vacuole.

¢) Peroxysomes are membrane bound structures and play role in the synthesis of
phospholipids.

d)  Lipids are converted into carbohydrates by Glyoxysomes.

Bod T wEgoHH0 DosSM

a) DFFen 000N BodsTodSnen €eudird SloplohAVaY

b) 088>rd I8 woirden T8 mEs PINSos S¢E0S HFoS® BSOS Sarer
BoGErIS SE\B408

C) Do§RFEsnen Eoindg JomEren So005n TIVOOE D03:30065° F|E S50

d) 85H&ed E%é)fdﬁanou SO r@enenm Sy

From the above true statements are

k) a3 eS® 5323@(‘6 WOTEN)

Options :

a.b.c.d

b.c.d

-2

c.d
donly

4.

Question Number : 14 Question Id : 1017174974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the biomolecule which is a polymer of fructose: Abundant protein in plants: straight
chain polymer made of glucose units and store house of energy in plant tissues respectively.

BED Do), Igend); 3K oe* wdghsomr &l [P (D wHod IRES BEE
oPe ¢y $H0030 I © geoerrerees® § Sorergrdomr ¢ofd £35 woHeod
DB HYoWISN

Options :
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Inulin. Collagen. Cellulose. Mitochondria

Q0gOa, ?@;@5, g, FETtsro|@asr

Cellulose. Rubisco. Inulin. Starch
OGS, AT, adogdS, Fb)

[}

Inulin. Rubisco. Cellulose. Starch
20O, LAV, DLV, e

w

N-acetyl galactosamine. Collagen. Starch. Mitochondria

N-20836 rvejgj{a@ﬁ, §°U;?35, @;QB e sro|d oS

Question Number : 15 Question Id : 1017174975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following statements and find correct answer.

A) In centriole the peripheral fibril is a triplet and are connected with central part by
protein materials.

B) Large and more numerous nucleoli are present in the cells of active protein
synthesising cells as they are membrane bound structures.

C) The density and size of ribosomes are represented by their Svedberg units which
indicate their sedimentation coefficients.

D) The carotenoid pigments are yellow or orange and not soluble in water.

08 »oFSned wigoRHnESn DO HBFTH HITHSS0 ESFA S

A) oBEBrES® Sar HH0H SFenotron. ad ol ot @S Horgod Sended
) 0LI"oN

B) dgsosndon dodird whE Hopgst g H05700 e So|@dsTozen (@638 H0Fhe
BB BN Sgreest € 0iron

C) Tg&af oHrddl BEFNO FoEE, H0S5rrQ) BD0HUN0EH HOOIN PH T
WITFES H257)) Hordd0d

D) &%, s0oa $Sgo 88S 3FETonE SPBarged ISt 861

Options :

_AB.C
_ACD
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Question Number : 16 Question Id : 1017174976 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A molecule of ds DNA 1s 272 A® long. It has 20% Thymine. The ratio between the total
turns and no. of H, bonds present in a molecule is

272 A° 698) o550y DNA €56, odes® 20% 3o &b, 5% Ségdopg
$0005n TrE R w0 dopgd Ho NG
Options :

26:1

1.

l:

)

5

-2

6
2:26

Question Number : 17 Question Id : 1017174977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Under an electron microscope 146H; histone molecules were observed in a ds DNA. Find

number of nucleosomes. number of nucleotide pairs associated with one histone octomer
of nucleosomes and number of nucleotide pairs associated with total number of

nucleosomes

8§ 8358y DNA we0dhd o)@(s;ﬁ Srg80)06° 50300 146H, s wenHen §04
¢08. & DNA &° Srg§ardbe Sopg, 2.8 s §68 a5001) ﬁé& Fmggcﬁs@é aden
$0030 Fngo SrgEBrEnws™) SrgEdrdae ede Jopgeiy $H90wWEw

Options :

14.6, 146. 29200
146. 146, 29200

14.6. 29200. 146

146. 14.6, 2920

Question Nu_mber : 18 Question Id : 1017174978 Display Question Number : Yes Single Line Question Opti gcollegedunias
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Match the following.

List-I List-II List-III
A)  Epidermal hairs of 1) Presentin secondary I)  Withnarrow cavities
shoot system phloem
B) Phloem parenchyma 1)  Stores latex II) Secretion
C) Phloemsclerenchyma 1i1) Presence of sclereids III) Absentin
Monocotyledon
D) Tealeaves iv)  Soft and stiff IV) Absent in primary
structure

80& T3 2SR

ey erd)e-I1 erd)a-Il1
A) S 0ES§IYS 1) BIB0% FAS D 98 3HD wisasen
w(wgddg@s‘w §2023°0085° &0

B) &48 Soysoseeereo i) BBE) Jexg ) Baoseo

C) &48 &) Soverodn 1) &) Swovew ) J85¢ DHez 3o o
€0

D) Z2osrdH HeEeen V) Sy, dddomr IV) @@ns doyos®
06

The correct answer 1s
HOGH HEPTHH0
Options :
A B B D
wIlI oIl LIV il
A B C D
.1 Il wIV ivII

[

A B C D
; m IV 1.1 I I
A B C D
will I wmIV ull
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Question Number : 19 Question Id : 1017174979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the incorrect statement

Pericycle is Sclerenchymatous in Dicot stem.

Bundle sheath is Sclerenchymatous in monocot leaf.
Dendrochronology related to the study of annual rings.
Old stems, store tanins and resins in heart wood.

S88°

& 1806 T°J5® HOFY woFTodH HBoWHHN0

) &g6¢ D s°0¢0e® ()ESEr0sNg HOWESD Hotnod

) 286¢ dar HFoes® Hoad) & () easNSIn

I) 08 Sodire wEgoHard) GoEEToe Wotrdd

IV) 306838 570@e) wodgrhs) i) 0050 Bdden deg THod
Options :

&IV

, 1&II

: D&IV

N I &1

Question Number : 20 Question Id : 1017174980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A): The climax community remains stable as long as environment unchanged

Reason(R):  Succession succeeds from small plants to bigger plants with several
intermittent plants

ANgo (A) | eSO é@%eﬁ)@ SrFS0e SCE SESE5E %60{? 0LV
5702050 (R) | @9dEH0e5® 08) 30§ © SHod DG DEGHE I0g o T40° DG I, ©
1§00 wHEDoBaEE 0D
Options :
(A)1s true. (R) 1s true and (R) 1s correct explanation of A
(A) 38050 (R) e 5863588 508050 (R) @06 (A) % 508508 D560

:
gcollegedumas
India’s largest Student Review Platform

1



(A) and (R) are true but (R) 1s not the correct explanation of A
(A) 308050 (R) e 38d0&0 570 (R) @586 (A) 8 50008 562 52650

-

(A) 1s true. (R) 1s false
3 (A) 9863058, (R) 905058 56

(A) 1s false. (R) 1s true
) (A) B0G056 55, (R) HBT0SE

Question Number : 21 Question Id : 1017174981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct statements

I)  Accumulation of K* ions in the guard cells is associated with passive influx of
Cl~ 1ons

II) Sugars move from companion cells to seive tubes through passive transport

II) Water from xylem moves to phloem by Osmosis

IV) Unidirectional flow of water in root is regulated by endodermis

HOGDS woTewd HBoWNN

D 688 Se0e’8 K™ wodrdoen D089k Cl™ woirdoen dEy,o8r wod@de woreron
) {58 Hod T0 T 8 U8 0en ey 05 Carer BoHST0N

) o) S0 A FAE Snerosns’ I [Badddn oo IO

IV) 36 >606* H8 b7 Srord) wosH650 J0DoBH06

Options :

LIOLIV

LIL T
ILILIV

; LILIV

Question Number : 22 Question Id : 1017174982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify incorrect statement

30570 woFod 80w

Options :
Free living Rhizobia are aerobes and have Nitrogenase in inactive state

T B5S DEA0D0 TOMVITS D HO0SH IS JETEIE wPSSE [Se*
€508

Nodules have direct vascular connection with the host and possess enzyme Nitrogenase
and Leghaemoglobin

DEETE DO WAHow TESHores I Jow0qd) 8O ok SHdokn BT
JETBIE DoBad DO0%H BA-LFIFTLHI) €roddid

Nitrogenase reduces N, to Ammonia under aerobic conditions

S EdE J0EN N, srasndird H50dee” wdrmdosrm §obEdno D058

Soyabean export the fixed nitrogen as ureides. which have high nitrogen to carbonratio
FOIranE © Fod JEaI @HE JFe-86)8 0B §OAS andaen JiHod

Laron.

Question Number : 23 Question Id : 1017174983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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In three different enzyme reactions. interferance of three factors A. B. C leads to the
following changes

I)  Structure of the enzyme is changed
IT) Inhibition of first reaction in enzyme reaction mechanism
IT) Competes for binding site on enzyme

050 ISEND FEgees® A B 5od0sn C se8ste #7850 S0 & Sri)os o76&050:5.
D J3BD Qopeasn S0

) 2585 Sorgoiro@SSnes® InGE S8 V6'0TESE

I) 258> w0odd Fore §Ho DEd DD

Identify A. B and C respectively
A. B 508050 C e 3608m

Options :

Copper. Mercury. Silver
50, 0069, 0, ?3@035
Copper. Malonate. End products

5°H0, 50657V, @oégéwo;w

ES complex. EI complex, End products

ES %0830, EI $08350, wodg Haroren
Metal Ions. End products, Enzyme resemblances

5% osroen, WOSIHT e, DB Se5yFen

Question Number : 24 Question Id : 1017174984 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Assertion (A) : Both ATP and NADPH+H" are synthesized during the cyclic flow of
electrons

Reason (R):  Cyclic flow of electrons occur when only PSI s functional and wavelength
of light is beyond 680nm available for excitation

D30 (A) 1 SE0D doFS Saresr Sg ATP 08050 NADPHH Boddr 0030082608
5262050 (R) : S8 oS Care PSI Sr@ad (§osrdodon e)Syk SH8050
8280 w508 630nm §7) 89 S 5708 SCoHBYFo SN 2HHD
Options :
Both (A) and (R) are true and (R) is the correct explanation of (A)
(A) 508050 (R) @0 580305 508050 (R) @S58 (A) & 503308 D58

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) 558050 (R) @0 3833080 570 (R) 25088 (A) & 38508 D580 5760

(A) 1s true. (R) 1s false
; (A) 5003086, (R) B06088 5760

(A) 1s false. (R) 1s true
. (A) 5053056 5265, (R) HBGSE

Question Number : 25 Question Id : 1017174985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose correct sequence of reactions i Hatch-Slack pathway

SRS HG0S* FI6ge B30
Options :
CO, — Carboxylation — Reduction — Regeneration

CO, — 5707\ §)BAS — 05086 —> H0)07y58m
1.

CO, — Carbon fixation — C; acid transport — Decarboxylation — RUBP regeneration
CO, — 86y THS — C3 88 Saea™ —> G507§BAS — RUBP H$8)07 0050

5]
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4.

CO, — Carbon fixation — C5 sugar transport — Decarboxylation — PEP regeneration

CO, — 86y TS — Cs I§ 6 Sarea~ — G50 §BAS — PEP HE50)07205%

CO, — Carbon fixation — C, acid transport — Decarboxylation — C5 Acid transport

— C3 Acid regeneration

CO, — 86)S THS — Cpe58) Saer — 35 0)§)BAS — C3 88 e

— G380 HS0ETe

Question Number : 26 Question Id : 1017174986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following with suitable enzyme reactions

List-1

(Type of reaction)
A) Cleavage
B) Mutase

C) Hexokinase
D) Dehydration

I

1)
iy
V)

H0GHE doBSnODH 2BEHETID

erde -1

($dg 6850)
A)  DELHI
B) SorgB&

C) rsEldd
D) é’Jg@édeoo

The correct answer is

DOGVS BIFrFHS50

Options :

bl

A B C
Li MMiv INiu

A B C
Mu IV ILiwv

List-1I
(Substrate)
Citric acid
Glucose
Succinyl CoA
3PGA

e -1

(068 Ho°gasn)
@

VEIS o

r&gg‘sa‘?

5§36 CoA

3PGA

List - IIT
(Product)
1) 2PGA
1) Succinic acid
11) Cis-aconitic acid
iv) Glucose 6 Phosphate

erd)e =111
(woes
1)
i) ;
1) D w8IBS o

V) KISE-6-IhS

DTES0)
@
GA

8)085 esdo

N

(&)

o

oA

:
gcollegedumas
||||| 's largest Student Review Platform



A B € D
i 11 Ly IN
A B C D

, Lii Wi ILi IViv

Question Number : 27 Question Id : 1017174987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following statements

A) Relative durations of light and dark do not effect flowering

B) Flowering in plants depends on exposure to low temperatures

C) Cold treatments stimulate a photoperiodic response in subsequent season
D) ABA helps in promoting flowering

& (80 argwgedy wEgohso Fobodk

A)  Drfen 08050 TG Fore FE SgHcoen QNG [DEPTR) BPDD
B) JH&EE oy sEESH ardso Dot eTrEid

C) 380 wfI6g $60H0 5708 5 erIHA HoSIOD8 OB

D) ABAJ&FNEE (620" DD

The correct statements are
DO agwgen
Options :

1 B.C

AD
AB

B.D
4

Question Number : 28 Question Id : 1017174988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the correct statements in the following

A)

B)
C)
D)

Measurement and comparison of the total growth per unit time is absolute growth
rate

Growth per unit time as percent of average size is relative growth rate

Cotton shows plasticity by heterophylly

Inhibition of apical bud by lateral bud is apical dominance

$oHTAS® HBFES PITTrOH 8950k

A) a8 PSrstoodd 3080 DEOHEDSH H020H0D FOEOH Fendhiad Hoiyrd
OGO Dén WO
B) $ien H0Se00 TS0 2,8 (HS7°60 57008 QNS $§9Y DEHHEOS8 FE DG
Ve WO
C) B8 98 HSHE oo TRHLI SrHSHod
D) &ogSosten u§dso DHHEOD JI6°HoSER) wrdHEgs wotrd
Options :
i AD
B.D
2
5 A€
A B
4,

Question Number : 29 Question Id : 1017174989 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose correct statements from the following

I)  Microbes used i extracting valuable metals are Biosensors
I) Salmonella uptake naked DNA from surrounding environment
IMT) Conjugation of Bacteria is a conservative process

IV) Rhodopseudomonas 1s photo heterotroph

Bod 78365° JHBID argwgo HBowWrSw

D Dozl ol 398 S0H@Is 8 dr§)EIo ailrvE) wotrd
I Hdore ok Sf) DNA & 8008 30gg0 FeyIer $Oh ¢0t00d
) ergdosres® Bo6EE HE8S® Hoosifo BEHS0H

IV) &FFEIr oD @030 5508 HEFASS0

The correct answer 1s

JOGHE HEPETHB)

Options :

I]I.IV

, LI
LIV

4. LIV

Question Number : 30 Question Id : 1017174990 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Phage particle function like hypodermal syringe to inject DNA into the
host.

Reason(R):  Tail fibres of Phage particles contracts at the complementary receptor
site of Bacterial cell wall.

Ao (A) | FETeNY Gderirgiit) D00E 58 B AT DNA & ©98500 §00085°8
W08,
s*8eadn (R) @ & &8 & Hodyrss @iré@;m@ 36 HoFBS» BohHkhod.
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(A) 1s true. (R) 1s true and but (R) 1s the correct explanation of (A)
(A) S0805» (R) &0 $H8G30858 508050 (R) @886 (A) 80 B05308 HH58e

(A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) 508050 (R) @0 3863080 523 (R) @dé (A) $ 58008 D56 5060

(A) 1s true. (R) 1s false
(A) 5053056, (R) B8G0SE 526

(A) 1s false. (R) 1s true
(A) H03H6 526, (R) 805058

Question Number : 31 Question Id : 1017174991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Heterozygous pea plant with round yellow seed are selfed and a total of 1600 seeds are
collected. Find the number of plants having heterozygous condition for both traits

DO HHWE IgTren o JADSNMB Dot IS HHotE Do o 2B,
1600 Hgrod DE0oSL0o 20008, IS Bok ©FIrOR HB020BONH DAS0DME
W) QST Doy

Options :

1 200

800

9

300
, 400

Question Number : 32 Question Id : 1017174992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following statements
A) By X-ray diffraction. Watson and Crick proposed the double helix of DNA structure

B) The plane of one base pair stacks over the other in a double helix which confers
stability of helixal structure of DN A molecule

C) DNA of E.coli. being a positively charged molecule and hence held in the region
called nucleoid
D) Transforming principle is the clear evidence that genetic material is stable.

1808 woFod H03O0WBIW

A) TS, 88 X 862 9380 dSrardo Psedo DNA @080y @ Qomead)
BETEoT

B) 8530)008°0 B850 24, I d0E00S” HF) 88 576 288 20HEF) ok
S0 DNA 086 do7psamd8 Gaded R0Et0 I8)hS0s

C) E. coli. DNA 68 3450 08 Srg8oironsd o @r0€06* $Hotnod

D) adghorgsn Hoeg) H0S5ED Sr@sn oo AT0ouSuWd

Find the incorrect answers

Q05T 2arenen MHJoHdaw

Options :

AB

1

C.12
AC
B.D

L-2

Question Number : 33 Question Id : 1017174993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following and identify correct statements:

A)  The genophore in prokaryote has almost circular DNA and show chromatin organization
B) Histones are positively charged basic proteins rich in lysine and arginine amino acids
C) DNA is negatively charged and wrapped around hisone octamer

D) Euchromatin is transcriptionally active chromatin

Bod ESBTren wgonso B B HOFTS T3 HYoWodk

A) So88 g EHeet) AP0 T Sedsrstd DNA $odosn 58S QU200
§OA 0008

B) Tr@Sen B H00I0 038 ePSedreod whson §O4 GorEs WHFTY) B
56 (@Jen

C) DNA axeoee)§ 25350 $OA IS es5500 D wotnsd & otnod

D) oHrEsrts wdHdps Hdom §osrde BSrES

Options :

A B.C

B.C.D

L3

ACD

AB.D
4.

Question Number : 34 Question Id : 1017174994 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Arrange the following organisms in ascending order based on the length of DNA
DNA 269 eordonr & §ob 2o 9% §30065° 9506250

[) Ecoli I ¢X174 IM) Human IV) Tphage
Options :

1 ILIV.ILI

LIOIT IV

]

ILLIOLIV

3; .
collegedunia:s
||||| 's largest Student Review Platform



. OIV.LII

Question Number : 35 Question Id : 1017174995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enzymes used for isolation of DNA from Bacterial cell
I) Lysozyme

) Cellulose

I) Chitinase

IV) Protease

V) Ribonuclease

VI) Endonuclease

o

7§00 S0 K06 DNA & 308 Soinirdy &H@rind Jo@snen
BB

OGS E

3838

(e300 E

D Sr8ahE

QoG ErEGhE

§s2E8*

Options :

i LIMY

ILV.VI

L2

LILIV.VI

) LIOLIV.V

Question Number : 36 Question Id : 1017174996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Find the correct statement.

A) In the name of restriction enzyme 1% letter represents genus. 2% letter species.
3™ Jetter is name of the strain and the last letter is order in which enzyme is isolated.

B) DNA fragments can be detected by ethidium bromide staining followed by UV trans
illumination.

C) Chimeric DNA can be developed by separating various fragments of DNA and Union
of desired DNA fragments by endonuclease.

D) Alien DNA can be introduced to host cells by method called Gene-gun method

DBGH a57gA) HGoTHN

A) TBRES 0B TGS T3 ©FEIN D £ $00 IHIAHVFEET TG Had
T30 25 @E6H0 2rS8Im0S0 38 wEES0 B G5 TmHSw $0d0%w DIY Dowg
QOBINVY JEOJEITY) V7205300

B) DNA poédered @000 E°0E @fdoesdsdn orgor Sodosn UV D86 axor
0800,

C) B600d DNApodesod 36 3D ar00s DNApodeod do&SrgsahE oo
SenHed HESE DNA 26)k0b ”

D) #35-68 H¢8 oo 705005 DNA & 28800 570508 FH)0858))&0

Options :

ABD

!
B.C.D

]

.I.%-lCID

AB.D
4,

Question Number : 37 Question Id : 1017174997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study following table

A) RNAinterference  Prokaryotes Cellular defence

B) Genes CrylAb Controls corn borer

C) Insect Bt toxin Active form

D) Superweeds Gene pollution Resistance to weedicides

& (80d e wEgoHhso DFohosmw

A) RNASg&86=0 o388 Srogdaen S0 Ofe0 DS

B) adogdhen CrylAb 50 5°66 dooEen
C) 8wso Bt ¢r§) S §os3r3e Exrdo

D) {rH6286 2508 57e0RGO Hey Tise G EES

The correct combination are
é@é 2500

Options :

ALCD

B.C.D

~

, ABD
, AB.C

Question Number : 38 Question Id : 1017174998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the correct statements

A) Plant breeding improves mineral nutrient content and quality

B) Atlas 66 1s a hybrid variety rice developed by IARI

C) Mung bean with yellow mosaic virus resistance was developed by mutation
D) Agricultural productivity is nearly 33 percentage of the GDP of the country

S80S woTwd ook

A) iz Srose ®WoFY) JgEdd BPHIHHICIETIE 5)F Pedso wSdso

B) i1 66 95 50 $086 65°7) (IAR]) 76 Doodowr®d

C) HDH H) Foezrons Bben 7ghH HGEESI0Tr) Dden &#\05850 ogo Dd()éo&
D) 3% dro @809 EB8S* S0 Honol &H)8 33 TS0 I68 t0tnod
Options :

J.‘ljk-aB-D

AC.D

1

" ABC

B.C.D
4.

Question Number : 39 Question Id : 1017174999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Somatic hybrids contain

7805 DosTen DA &odd

Options :
Cytoplasm and nucleus of a single parent plant

a8 Sy g, B0E), S0 (g0 BN BoESESw

Cytoplasm of one parent, Nucleus of another parent

2.8 ad8d) $2 BSgS0 HB0T ROFE 25500 SoEES
Cytoplasm and nuclei of two parents plants

Dok Sorefy I © Bea |SgS0 SHDA5N BossTen
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Only cytoplasm of both parents

Bod 23800 B |SgS0 ST
4

Question Number : 40 Question Id : 1017175000 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Cotton 1s a Jassid resistant plant
Reason (R):  Hairs of the leaves have the property of resistance

Ao (A) B8 anbos HAEESS o
5850 (R) @ §Q) 30§, 06® Higeo D &od S7en S8 Hded H°ESSS Senrfdaon

Options :
(A) and (R) are true and (R) 1s the correct explanation of (A)

(A) 558050 (R) @0 38333858 500050 (R) @088 (A) S 350008 dH6=

(A) and (R) are true but (R) 1s not correct explanation (A)
(A) 58050 (R) o0 3853080 570 (R) 2088 (A) 5 38308 D562 5760

(A) 1s true. (R) 1s false
(A) 586030858, (R) 3065088 s

(A) 1s false. (R) 1s true
(A) ¥053856 5265, (R) H05088

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1017175001 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Assertion (A) : Steller's sea cow has become extinct due to over exploitation by humans.

Reason (R):  Alien species turn invasive and establish themselves at the cost of
indigenous species.

AHESD (A) 1 ‘Tob $3NE v’ SrSHID 5500 98IIBrHo S DendBoongos.
s?8adn (R): IB3ersHen TR 5778, LIS O S DBo» Fod, $0%00

Ka;&agg 22T ?8(5()6@@033.

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation to (A)
(A) 58050 (R)Bodr $853 558050 (R). (A) % 888 D580

Both (A) and (R) are correct but (R) is not correct explanation to (A)
(A) 58050 (R) Do 58853 570 (R). (A) $ 808 IS8 5=

(A) 1s correct but (R) 1s not correct
(A) 83858 570 (R) 9056 5765

w

(A) 1s not correct but (R) 1s correct
(A) 5088 5760 57 (R) 80358

4.

Question Number : 42 Question Id : 1017175002 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Rivet popper hypothesis of Paul Ehrlich explains

FS JOS PBFHoNS 03 FH6 Syicaoho AN JSBH06.

Options :

1.

1

Importance of each species in the overall functioning of an ecosystem

28 83080 IgIY HISEHS® HS & D), PSP

Role of latitudinal gradient in biodiversity distribution

B VG g’ wgrod |Hdd
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The relation between diversity and productivity
83 I8, wEBESKH Dy Ko Hoodo

3
The relation between area and species richness

£Ho IQISH, S HINESL Dy Ko HoeoEBEn
4 .

Question Number : 43 Question Id : 1017175003 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Neurons with soma in the dorsal root ganglion of spinal nerves are said to
be pseudounipolar.

Reason (R):  Theyare sensory neurons having a single process divided imnto two branches.

DPSSN (A): BT HRHOTFO TAB0S® SalTten o TGSrel oy
EEYS T hSeTren wd ErE wotrd.
52600 (R):  ad Bod Fpeor LOS &8 8080 S s T dEren

Options :
Both (A) and (R) are true and (R) 1s the correct explanation to (A)

(A) 5008050 (R)Bodr 5653083 08050 (R). (A) 8 508 D380

Both (A) and (R) are true but (R) 1s not correct explanation to (A)
(A) Hoosn (R)Bodr 8853 500 (R). (A) 8 8BS D560 5765

1

(A) 15 correct but (R) 1s not correct
(A) 8858 570 (R) 5058 5768

[

(A) 1s not correct but (R) 1s correct
(A) 5058 ¢ 570 (R) 9058

Question Number : 44 Question Id : 1017175004 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statement

& 1808 E)K) T8eS® $8 agwgds MHfoKod.
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Microglial cells are mesodermal in origin

DENODS Segren 0EZEIS0 SH0& & DTN

Simple cuboidal epithelium 1s called pavement epithelium

DEENTSE GHEFS a0 & HEE wotrd.

[

Haversian canal is found in gristle
OO Hoorg HYEITRES” EADHL08.

Abnormal rise in WBC count is called polycythemia

8o §88e Hopy YT EOT DORF) FEDEDOIT Word.

4.

Question Number : 45 Question Id : 1017175005 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Match the following
List-1

(A) Enterocoelom

(B) Coelenteron

(C) Haemocoelom

(D) Pseudocoelom

1808 573 e2ES50N0A.
(A) =0 $68 Sordo
(B) 288080 soirdo
(C) 8% &350

(D) ey #66 Hordo

The correct answer 1s
Q& BB dSrrdo

@
(ID
(IIm)

(IV)
V)

(D
(ID)

(IV)

List-1I
Cnidaria
Echinodermata
Nematoda
Arthropoda
Annelida

D¢38 - 11
QBRBOST
QP S B0 LT
JestaEr

WIOFT

:
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Options :

@ @\ ©O© O
I \% Im V

@ @® © O
II I Y I

@ @® ©O© O
I I V I\Y

w

Aa @ © O

, I I I WV

Question Number : 46 Question Id : 1017175006 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Note the correct statement from the following about the organisation of Echinoderms

RPISBOYT G 2IHE H022080US Bod Frgwgees”® HEonS AN KfoHok.

Options :
Animals with spiny skin. water vascular system and without a distinct heart.

Soogs SOAS TG0, BOEDGR Sg5Y §OA Hod B EHhen

Animals with soft body. pentaradial symmetry and without heart.
$50)303S B0, Howsss oy g FRH0 8O/, Hod B BOSHYen

Animals with spiny skin. schizocoelom and without heart.
;ﬁne’g §OAS D60, VeS8 68 S5°60 8OA HoB B £Hew

Animals with spiny skin. dermal ossicles and canal system.

S00¢) EOAS W60, IEYoH wH Pomren, Herg S5 EOAS BoHHen
4

Question Number : 47 Question Id : 1017175007 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following
(A) Gnathochilarium
(B) Spinnerets

(C) Poison claws
(D) Viviparous

808 T 238D H.

wie -1
(A) 3888060500
(B R
(C) DRYH Sgrex

(D) 3gramyisTen

The correct answer 18

D& BOGE HIrTEH0

List-11
(I) Scolopendra
(I) Palaemon

(IIT) Spirostreptus
(IV) Aranea
(V) Palamnaeus

e - 11
D ;2o
() DOSrS
W 2o

IV) Qocdosr
V) Derdy)ahd

Options :
A @B (©
; I V I
A @ (©
" il I\Y I
A @ (©
I\Y I I
3.
A @B (©
y il I\Y I

Question Number : 48 Question Id : 1017175008 Display Question Number : Yes Single Line Question Opti

Orientation : Vertical

(D)

(D)

(D)
v

(D)
A%
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Study the following structures

(A) Sternum (B) Tympamun
(C) Cleidoic egg (D) Three semicircular canals
(E) Hardarian glands (F) Ammnion

(G) Columella auris

808 ofred) wigohdo Tabok.

(A) &6 (B) sg&o
(C) §moxn§ ey (D) SHor WESoEs™S Hoorgen
(E) Xf@@oﬁaﬁ (focsen (F) epo

(G) 855088

Which of the above appeared for the first time in successful land vertebrates.

-

D 8" DHRoHI0SRE HEIOT S JNEBTOT GBS Joyearen HBoWod.

Options :

: B-C-E
C-F
C-G

D-F-G
4

Question Number : 49 Question Id : 1017175009 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following combinations regarding the origin and ancestry of different
vertebrate groups.

Group Ancestor Origin period
I Aves Theropod dinosaurs Cretaceous
I  Mammalia Theropsid reptiles Triassic
I Pisces Placoderms Silurian
IV Amphibia Osteolepids Devonian

DG HEIG s BITNS SO0 T Jrigsoe DIT0R Howodod) Bod FENoHD
© o0 Book.

Hd0aroio Sroggoen SITNS 500
I  5%eo GO>E BTV BEDODD
oI §6oren Sorind B6Hyren L203rH§
M JIHew P60 DOrdoHS
IV <&efohdoen BYBrBHEe IS RIS 1]

Identify the incorrect combinations of the above
D BS® S5y adgasd S0 FTod KHowHw.

Options :

LI

ILIV

L3

L 1v
LIV
4

Question Number : 50 Question Id : 1017175010 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Cleavage 1s meroblastic in reptiles and birds
Reason (R):  The eggs in reptiles and birds are megalecithal

D3E30 (A): {06@)@@3, HHoeres® oS5 0B DEFS30 2HHH 0.
s ¢00 (R): B0 ren, HPeS* Kl rBES 65o.

Options : gcollegedunias



Both (A) and (R) are correct and (R) is the correct explanation to (A)
(A) 38050 (R)Tod 0852 08050 (A) 8 (R) 805 D38

Both (A) and (R) are correct but (R) 1s not the correct explanation to (A)
(A) 58050 (R) Do 880 570 (A) § (R) 885 DS36e0 5°¢%

a_

(A) 1s true but (R) 1s false
(A) 5856 570 (R) 9886 575

(A) 1s false but (R) 1s true
(A) 5836 57 572 (R) $088

Question Number : 51 Question Id : 1017175011 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The energy for beating of the cilia and flagellae comes from the hydrolysis of ATP by the
enzyme located in

FO8en, ST re §EO50N sI0dS 9§ 2olN I 0H0s. & 2OIFTAS JoBIW
&0Q 2o

Options :
a-tubulin

{x-émga}:}g@!‘i
Nexin
38 s

Dyenein arms

B eI

p-tubulin

B-torgegda

Question Number : 52 Question Id : 1017175012 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Assertion (A):  Sporogony in Plasmodium 1s a type of multiple fission.
Reason (R):  Generally multiple fission occurs during favourable conditions.

Ago (A): Q@géoﬁ)o@"}\’) PN DITVTIINGSV 2.8 8.
s*620 (R) : P00 AITVTAUE @HEre HoQdest afidod.
Options :

Both (A) and (R) are correct and (R) 1s the correct explanation to (A)
(A )SoBosn (R) Dotk $8:852 50805 (A) § (R) 888 D588

Both (A) and (R) are correct but (R) is not the correct explanation to (A)
(A) 8050 (R)Bod 88850 508 (A) 8 (R) &3 D360 5765

(A) 1s true but (R) 1s false
(A) 5886 570 (R) 8088 576

(o)

(A) 1s false but (R) 1s true

(A) 8956 56 520 (R) 5356,
4.

Question Number : 53 Question Id : 1017175013 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following statements with regard to microfilaria larva

(I)  Life span of microfilaria larva in man is about 70 days

(I) Saurage-shaped larva becomes infective larva within 10-20 hours
(II) Infective microfilaria attains sexual maturity within 5 to 18 months

DEHDO0SE BoefES0SE 020608 1§08 WOTOR WEFONS[D Dok
(D SrdHAeS* ERS00Sr GogfESn BwE), £ISs 00 o) 70 Geren.
(I) & o& Gdozsgo 10-20 Kotee® FroEns SPTHT DT
() FroEdns PE PBOGST 5-18 Jwees® HBHE 58 V.

0,

Identify the correct statements of above

2) @oF0S” H0S 7¢I MHodod.

Options :

LI
i H

1

IT. 1T
3

, LILII

Question Number : 54 Question Id : 1017175014 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Excessive dosage of cocaine causes hallucination.
Reason(R):  Itinterferes with the transport of acetylcholine.

Do (A): 5B »§E Irertde® grod SaniEdyod

s*8=20 (R): 20 ©dBS FBI Carerres® #8550 THFotnod.
Options

Both (A) and (R) are correct and (R) 1s the correct explanation to (A)

(A) 58050 (R)Boddy 885 508050 (A) § (R) 908 DS58=
L.
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Both (A) and (R) are correct but (R) is not the correct explanation to (A)
(A) 508a5» (R)Bod 8882 570 (A) 8§ (R) 505 D8 526

5

(A) 1s true but (R) 1s false
(A) 5888 570 (R) 8888 52

(A) 1s false but (R) 1s true

(A) 5058 526 520 (R) 9058
4

Question Number : 55 Question Id : 1017175015 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following stages of life history of Plasmodium in mosquito and arrange them in
correct sequence

(A) Sporoblast (B) Oocyst
(C) Sporozoite (D) Ookinete

G'0S" 26t JFydaDo £ SOES™ Bob BT weigoHso W HOS Eoe® wdyok.
(A) AR (B) #=Hd
(C) &Geronts (D) #s83¢5

E‘Z(J

The correct answer is
DG HIrprdan

Options :

B-D-A-C

C-B-D-A

D-B-A-C
3

) A-C-D-B

Question Number : 56 Question Id : 1017175016 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gcollegeduma
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Study the following with reference to reproductive system of Periplaneta
(I)  Testes are located in 2-6 abdominal segments.

(I) Secretion of utriculi breviores forms the inner layer of spermatophore.
(ITI) In total a pair of ovaries consists of eight ovarioles.

(IV) A pair of branched colleterial glands is present behind the ovaries.

DOFIT HSgAE SgIP8 005N §o& voTen BFgIhdo BoHok.
(I Soaren 2-6 666 PosaEeS® €& 0otrrow.

@) o8B BSG) DEHEE S50 Jo-d) DEYGoTOW.

(OI) 2.8 228 @ Sz S50 Ingo JAME 30@TTe) €otrron.

(IV) L?_g Dafreo I8 8 ad T aNSHS §OLBOHS (ogen Goirown.

Identify the incorrect statements:
2 T8e° $B3D 57 woFen HJoHod.

Options :

ILTLIV

!
LI IV

L3

LILIV

LIL IO
4

Question Number : 57 Question Id : 1017175017 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In insects. the respiratory system 1s classified on the basis of
(A) Number of spiracles (B) Nature of spiracles
(C) Position of spiracles (D) Structure of spiracles

&erseeres® ?og{aégé{géo §0& ©®oFT 0 esTFOM 5?&30::?63.

(A) FS6ore Sopg (B) #xd6omre dgerdo
(C) #(Sboze igéo (D) #gdbome doryea0
Options :

| A.C gcollegedunias



AB

L2

AD

B.D

Question Number : 58 Question Id : 1017175018 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Larva of Pinnotherus maculatus exhibits

Options :
Photokinesis

, 5708 edrddo
Phototaxis

5706 whdeso

Photoperiodism

5*06 5FeS8
Bioluminiscense

2550860
—i

Question Number : 59 Question Id : 1017175019 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following and identify the correct combinations

SNo. List-1I List-T List - ITT
I Calotropis Cardiac glycosides Highly poisonous
I Nicotine Chemical substance Defence against
grazers and browzers
il Gause Competitive exclusion  Superior species will eventually

eliminate other inferior species

\Y Mac Arthur Co-existance Same foraging pattern

808 7°¢3d wEgohso VD BGons BEloPe MHfodok.

D.00. e -1 erdie - 11 i - 111
I B ETHD 5°Qo3r§ Qg"gg&@a wdgod JNGroS0
II DEEIS Srafs Hrgo HHJen, e ohHdome
&0 §°%0
I (aES Fe3eede D000 DO 28 358 8 JI6OH08
\Y S8 &6 SPak R e 28 DEHS %6 DEG HgSen

The correct combinations are

DO FoedoHew

Options :

LIL IV

LILIO
1L I

L3

; LI, 1V

Question Number : 60 Question Id : 1017175020 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Suppose a population of butter flies is growing according to logistic growth. Nature's
carrying capacity of that population is 800. Intrinsic rate of natural increase value is
0.5 mdividuals per month. Calculate the maximum possible growth of the population

in one year. [For logistic model N = =

8 (Fogoes® HeFE dense aser o2l SR PEHKHE. ¢ BTbos® © aTEr

Options :
12

100

L2

120

1200
4

Question Number : 61 Question Id : 1017175021 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Read the following statements :

(I)  H7 ions released from H,CO5 combine with haemoglobin forming haemoglobin acid
(I) Right side shift of oxygen-haemoglobin curve is due to high pH and low temperature
(IIT) More than 70% of CO, 1s transported as carbamino compounds

(IV) Inlungs. oxygenreaches the blood by active transport

8od mozen wFgoHdo BoHod.

(D) H;CO;5 &0& JdoBwonsd H edsrden rIrfdsSs §od rarfds o
AleplAE: STeTa

(I) ﬂzégaaﬁ-‘ém’w?jfﬁﬁ SE0P SEIY TS 5700 w68 PH Hdohn #8508 s,
o) 0 ) 5> SHNS HaFTrenm Carsar @S 08.

@) o) 70% S 858 CO, 56 DS* $30y¢ 6 54

V) H08%H0e" s§ind 65058 JFor darer a%o" B0S.

Among the above. the correct statements are
2 @WoTos® BB 78 Mdotok.

Options :

A

LI

LILII

LILTLIV
4

Question Number : 62 Question Id : 1017175022 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Adams apple is a prominent protrusion of

iy wHS & Dok 8y¢ @S domo.
3 2, —2 &
Options :

Cuneiform cartilage

Srgiardo ASJQCSJ@?&;
1. '
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Aretynoid cartilage
QB Tons Hytherd

1

Thyroid cartilage
RUrond Syrery

Cricoid cartilage

5 2
Es‘*m}w ﬁ)&d)@g

Question Number : 63 Question Id : 1017175023 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Formation of glucose from non carbohydrate sources 1s called

DoGITTOY T T S0k HEe B BEDH

Options :
Glucogenesis
ArSBEILD

Gluconeogenesis

@gﬁmcﬁrﬁ et

-2

Glycogenesis

PEESEE

Glycogenolysis
ER-DEBE
4. =

Question Number : 64 Question Id : 1017175024 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Elevated serum creatmine levels indicate kidney failure.

Reason (R):  Serum creatinine is eliminated in hemodialysis.
dfgo (A): 280 BOSTBHS o MG Sor@nod (§oird) 8 SHergd) Srddob.

collegedunia:s
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Options :

Both (S) and (R) are correct and (R) is the correct explanation to (S)
(S). (R) e Bodh &850 0dosn (S) § (R) 888 DS

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S)
(S) 08030 (R)Bocd #9882 508 (S) 8§ (R) 888 D580 5765

(S) 1s correct but (R) 1s not correct

(S) 50858 570 (R) 58586 s7¢h
(S) 1s not correct but (R) 1s correct
(S) 88858 =6 570 (R) $35&

4,

Question Number : 65 Question Id : 1017175025 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct sequence with regard to the spread of electrical activity in heart

HoBRS® DEHFS BEg Tg0B HBH IOBESrA) MHfowob.
Options :

SAnode — Wall of atria — AV node — Bundle of His — Ventricles —» Purkinje
fibres

DTE0s” Seod) —> §080 e — E05°2E05™ o) — OGRS 1T 7 —»uEdE

Fe — Hb) 08 SodhJen.

SA node — Wall of atria —- A V node — Bundle of His — Purkinje
fibres — Ventricles

OTEYS™ Ee03) —> 508 Wk — 05 2805 §e00f) — DORS ) 70 '—>Zg)®2r085

HodhHen H>uEdgen.

[

SAnode — AV node — Purkinje fibres — Atria — Bundle of His — Ventricle

DUPERET K0l — $05° 2808 =0 —»>HY) 08 SodhJen — 08w - wokd

8D o o 2EHEe).

w
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SAnode — Atria — Bundle of His— Purkinje fibres — AV node — Ventricle

DUPEYS® §e0) —> EPen — 20BS P Y - HB0B FohJew — §05° 2605

S0 — 280800,
4,

Question Number : 66 Question Id : 1017175026 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Match the following sets.
Set-1
(A) Myocardial infarction
(B) Myocardial ischemia
(C) Hypertension
(D) ChestPain

(A) HDrs~fonS adr68s
(B) $HBrs=fonsS ag)dnosr

(C) =68 65
D) &8 S

The correct answer 1s
BOGNS BSrE S0

Options :

@ ® O O
N Vv II I

@A ® © @O
Y I vV IO

@& ® © @O
vV m N II

1.

[

o

Set-1I
(I)  Reduced blood supply to cardiac tissue
(I) Insufficient pumping action of the heart
(IIT) Angina pectoris
(IV) Localised necrosis of cardiac tissue
(V) Stroke

8 -1

D) &ysoH Seoererds GEHHG §eSowdi
(II) Ko&B Fboddood HBHE 65:Q)

HoD VoHBEFS%o
(I Doz §05
(IV) &myso geeereo g0 So8eBosco
V) 5850
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@ @’ ©O© O
I v Vv I

Question Number : 67 Question Id : 1017175027 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose correct statements with respect to human joints
(A) Synovial fluid contains hyaluronic acid

(B) Jomt between carpel and metacarpel is pivot joint
(C) Gomphoses are amphiarphroses

(D) Diarthroses are freely movable joints

SrSS 8% $020600E $B8 Frgwgos MHoKos.

(A) DITVoHS ($H0S5° FoendIF 0 rotnod.
(B) a’)aséa:ocﬁs"c:g, §627°) TR eTe §en 5°0K5) Jew
(C) AFoars&en goipg@;a‘?e_n

(D) BesG@en DT EEOES W §6Je;

The correct answer i1s

SOGDH JIrgrddm

Options :

B.C

AD

i)

4

AC
B.D

Question Number : 68 Question Id : 1017175028 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following lists.

List-1 List-1I
(A) Cerebellum Rhombencephalon
(B) Limbic system Mesencephalon
(C) Brainstem Prosencephalon
(D) Pons varolii Pneumotaxic centre

8od erdered a8H3E0d.

rde -1 erd)e - 11
(A) wddaRyo H3)DA"Go
(B) ®04§ $§58 Soe8gigo
(C) &k Sareo a’g)ﬁ‘ﬁ‘go
(D) &) 360 SrgRrer§§ Soo

Two correct combinations are

Do BBS FoFdopen

Options :

AD
B.C

L2

AC
B.D

List- 11T

Gyroscope of the body
Emotional reactions

Memory and communication
Control of respiratory muscles

erd)e - 111

B NE°RD
TN WEgen
eHEFE, Jdrwrdo

FTLOE0ES §6O80 Jovo(BeD

Question Number : 69 Question Id : 1017175029 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Match the following lists

List-1 List-1I List- 1001
(A) Retina Ganglion cells Send action potential to brain
(B) Rods Idopsin Scotopic vision
(C) Cones Iodopsin Photopic vision
(D) Retina Blind spot Cones only

§08 erdarody 2dAEKSok.

i -1 rie -1 erd)e - 111
(A) Jgseo TGH06 Segren e Bosrdsyen Simso Darow
(B) Socdtsegeen WIBPTY AFTEE SR
(C) Foposeseen WP TE Y HESIrey Sy
(D) IJgHeo ©0E W8, Foposegren SrEsad

The two correct combinations are
Boky $BS FoFdoHen
Options :
. B.D
2 AC
AD
3.

4. B.C

Question Number : 70 Question Id : 1017175030 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Over secretion of oxytocin in early stages of pregnancy leads to

A6\DGe0 (@r80eS (3¥eS° ©§)ET*dd wisomr BdosbaE
Options :
Stimulates leucopoisis

OrSTronnn WEHENHos
1.
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Stimulation of erythropoiesis

v eES (BoH (HOnowediEob

a3

Abortion

ﬁﬁﬁﬁjfd;je? 2300 0os
Ve A

Increased BMR

BMR Sytosod
4

Question Number : 71 Question Id : 1017175031 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following lists

List-1 List-1I
(A) Zona glomerulosa (I) Glucocorticoides
(B) Zona fasciculata (I) Catecholamines
(C) Zona reticularis (IIT) Thymosin
(D) Adrenal medulla (IV) Mineralocorticoids

(V) Androgens

808 rderod 2EHTE0k.

i -1 erde - 11
(A) & FpdHS (D) ArSsfstonken
(B) &5 >dsdir @) s 850
(C) & Be3%0erdD ) F3r0s
(D) «83y%,65g (IV) &6 sgsronden

(V) so&adew

The correct answer 1s

DS BIrgeSo

Options

@A @ © O

W W 4 ¥ # collegedunia



@ ® © @O
I vV I \%

@a ® ©O© O
\Y I \% I

@ ® O O
\Y I N I

3.

Question Number : 72 Question Id : 1017175032 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Human Immunodeficiency Virus attacks

Sr3S DrgSBINONY) 6D & e Td BKod.
Options :
T cells and Ny cells

T 8eaeen, Ny Seoeen

Ty cells and Dendritic cells

Ty 8eoren, Bo&e3S Seamen

T cells and Mast cells

Te 8zoren, 579

B cells and Dendritic cells

B Szoren, Bo|&43§ Seoren
4

Question Number : 73 Question Id : 1017175033 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A married woman menstruated on 10th March. In order to avoid conception, she should
abstain from coitus during

2.8 DerdsH S0y 105 868 OrHErdo 20Aod. & KE)Tdn A5H0VoBIE & BSHS®
D02 {0e5" reTHEPELD.

Options :
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10th March to 16th March
370y 10 So0d 50y 16 565

20th March to 27th March
370y 20 Lok Srby 27 S6%

[

27th March to 2nd April
S0y 27 Sr08 S 2 568

4th April to 8th April
ABS 4 H08 DS 8 6%
4

Question Number : 74 Question Id : 1017175034 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Arrange the steps followed in the GIFT in the correct order
(A) Transtfer of ovum to fallopian tube

(B) Cleavage of zygote

(C) Collection of donor's ovum

(D) In-vivo fertilization

GIFT (58 05e5* @9500808 §0& ¥l S80S ESos* wddod.
(A) FS*HODD T¢0 5°VE wocdko &

(B) Hoosngdeo HE5ES0

(C) o HHr08 woko EG

(D) BS woss Hodsd

The correct answer 1s

SBEHE BIPETEE0

Options :

C-A-D-B

, C-D-A-B
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; D-C-B-A

, C-A-B-D

Question Number : 75 Question Id : 1017175035 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct sequence of steps in DNA finger printing technique
(A) Separation of DNA fragments by gel electrophoresis

(B) Identification of DNA fragments by using probes

(C) Obtaming DNA

(D) Cutting of DNA with restriction endonuclease

(E) Splitting of double stranded DNA into single strands

(F) Southern blotting

DNA 5066 ©0¢30h Sro888E5) H0205008 AT woF e H8GHE [Eooes® wld)ok.
(A) DNA 3§ o 86 IBE o0 HE8s* Blestalovtlete

(B) @de $:5%0o8" DNA Sn§) s Hhgoddo

(C) DNA & 8800

(D) 6@3§5 QoG drg§ohde $:5%0008° DNAJ podosto

(E) DNAS 282 DNAm damréso

(F) ©66S epé30h

The correct answer is

5O HITTHE0

Options :

C-A-E-B-F-D
1

C-D-AF-B-E
C-D-F-A-E-B
3
, C-D-A-E-FB

Question Number : 76 Question Id : 1017175036 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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A child has blood group O. If father has blood group A and mother has blood group B. what
would be the genotypes of father and mother?

2.8 39HY 6§ Sgo O. & 3DHY Sod ASTdE, € B 50708 Bobdeyonsd Scothe adog
grarod Bosod.

Options :
) g e )
, TP PP
. g A
4 s S L 1

Question Number : 77 Question Id : 1017175037 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the condition that can maintain constant allelic frequencies in a population
(A) Migration (B) Small population
(C) Randommating (D) Absence of mutations

8.8 237rd” oMDdsone ZHT g0 Srsson Hoor €0BOEE ST 095 H0HHeD
8o& °¢3e5° Bododt.

(A) Sed (B) @) aorer

(C) gy Horfdoo (D) &&\05gSen asKsdSEo

The correct answer is
HOGS BIrerSSN
Options :

, G.D

AC
B.D

A B
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Question Number : 78 Question Id : 1017175038 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following statements with reference to evidences of evolution and choose the
correct ones

(A) Seymouria is the connecting link between fishes and amphibians

(B) Fromevolutionary stand point gastrula represents the cnidarian stage
(C) Wings of butter fly and bird indicate convergent evolution

(D) Auricular muscles of pinna are atavistic organs

£ 50 AESGTr08 H022080%) 8§08 BOFTOD WEIZEHI0 VD °¢3eS° BB 7°¢3Q) Kogosok.
(A) Drocir FHOH GHCHSTOR Gy BT E VMY

(B) #3508, g Sorm miner JHBOWST G35 Srddyod

(C) d=§8lens, H§ B8 0 WHID HBePSTR) BrdT00

(D) erdrgdd esd&rgerd Sokoren AP wSohar

The correct answer is
DBGS BTSN

Options :

AB
B.C

L2

e.n
AD

Question Number : 79 Question Id : 1017175039 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : The « and S chains of insulin are connected by a non-functional protein
sequence called C-peptide in proinsulin.
Reason (R):  C-peptide controls blood glucose levels.

g0 (A): @ aJdISD a. Brevdven C- B ol OB BTG (@S TenHD
odaad todrow.
=820 (R) : - .—oé §§0e° Hr&°H @“0309)564 ESfou Lol blolw

Options :
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Both (A) and (R) are true. (R) 1s the correct explanation to (A)
(A). (R) &0 Bodr $5050. (A) 8 (R) 888 D58e

Both (A) and (R) are true. but (R) is not the correct explanation to (A)
(A). (R) ex Bod> 8832, (A) § (R) 838 D8k 57

(A) 1s true. but (R) 1s false
(A) 8888, 570 (R) 88858 56

(A) 1s false. but (R) 1s true
(A) 5856 s, 5 (R) 8858

4.

Question Number : 80 Question Id :

Orientation : Vertical

1017175040 Display Question Number : Yes Single Line Question Option : No Option

Match the following lists

List-1
(A) MRI
(B) ELISA
(C) ECG
(D) EEG

List-1I
(I)  Antigen-antibody reaction
(I) Brain electrical activity
(IIT) Non mvasive radiology technique
(IV) Heart electrical activity
(V) Angiography

808 erderod ad36dod.

rde -1
(A) MRI
(B) ELISA
(C) ECG
(D) EEG

The correct answer 1s

HORS dSrerdo

erdia - 11
D B8 238-H8BT B
(D) Joasc Deogey |osraed
D) 50, Bk PHeoraren B Bdosred HE8
IV) Frysoioo gdy (Sosraed
(V) Qoz&drEd
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Options :

@ @ ©O© O
m N I I

A @ © O
I I I \%

[}

Aa @B (© (@D
I I \Y m

w

A @B © O
I I \Y II

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1017175041 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In an experiment. four quantities a. b. ¢ and d are measured with percentage error 1%. 2%.

31,2
3% and 4% respectively. A quantity ‘P’ 1s calculated as P = At

o Then the percentage
C

error in ‘P’ 1s
2.8 PRS0t a. b, ¢ HBcsw d oHheos® &l TESnes SEIm 1%, 2%. 3% HHdosw

31 2
a’b?

cd

% TODNTEH. @ond P e 8 73, P= @80 $DEBps0s® LTS P’ &°

Options :

14%

10%

[

T%

4% X
4. collegedunia:s



Question Number : 82 Question Id : 1017175042 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The variation of velocity (v) of a particle with time (t) 1s shown in the figure. The average
velocity of the particle during its motion 1s

'l

5008 a8 Smwo BwE) IMsw (V), soo () & SrEEQ) Hod' Brdwddd. & Sodos®

Sien JKBw

v(ms“l) 4 b

t(s) —

Options :

M)
—1II11S
=

El]l'i_l

A5
—1118
-

Ems_l

Question Number : 83 Question Id : 1017175043 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The resultant of P and Q is R.The magnitude of R will be doubled either by doubling the
magnitude of Q or by reversing direction of Q .ThenP:Q:R=

—

P %8050 Q © %980 R. Q H0SresnS BYoH Do B Q K I3888 BIST

$. wond P:Q:R=

%« ol
al
e
C
&\
(4
o

GOV R cﬁoos’z; PSToPN oy I

Options :

J2:403:4/2
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V2:42:42
LaRsy

Question Number : 84 Question Id : 1017175044 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A boy is riding a bicycle with a speed of 10 ms—! towards North direction on a rainy day and
rain appears to be falling vertically downwards. If he increases his speed to 15 ms—1. rain
meets him at 45° to the vertical. The real speed of the rain 1s

§ rend $80 S s 10 ms1 368 ESH GEfo IPH SdoYso T,

{')

500050 380 Ay DeoHT EobE HEBB)LY IV, wrends 5 363 15 msl&

o~

J

2008 $80 §82 ©0erd8 45° F0o8 @8 S0l & o G, Ju 5&

Options :
5 ms-1

IO\E ms

54/5 1115_1

3

10 ms-1
4,

Question Number : 85 Question Id : 1017175045 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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In the arrangement shown in the figure, masses of blocks A and B are ‘m’ and 2m’

respectively. The string 1s massless and mextensible. Pully is frictionless. The coefficients
2

of static friction between A and the wedge surface is — . between B and the wedge surface

2

1
1S 3 If the blocks A and B are released from rest, acceleration of block A 1s

DLINGT IrhS @HES”T A 85w B &30 ($dgorden S0 ‘M’ Hocsn 2m’

IS0 (BSgorITrd, REoHL2EBIG. A o8 IGsehne HEg B8 Lol e Ein

p_.o

—. B 50805 Bc's'; Sodne S’Jodg "«g@é $o8e0 oea8s00 ; &33@,0:63 QT*00 E(’géé Sood

Ao T, AbRy Sidesn (S g SI6)

ol

Options :

g

1 2
Zero (2o :(3_3_)

Question Number : 86 Question Id : 1017175046 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 10 kg is being acted up on by a force of 3t2 N and an opposing constant
force of 30 N. The initial speed 1s 10 ms—1. The velocity of the body after 5 seconds is

10 ms™ 80 IS8 HSodoes” o 10 kg 55073 Ko H:8
30N 28 5% 2o SITVAENWHD. 5 DESe dIYL $

o &
& ped
£
D\
g\

Options :

i 12.5 ms-1 gcollegeduma



7.5 ms1

-

; S ms-1

; 25 ms—1

Question Number : 87 Question Id : 1017175047 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The displacement of a body of mass 4 kg varies with time as S = (12 +2t) m. Now the
workdone by all the forces acting on the body during the time intervalt=3 sand t=5 s 1s

4 kg 355078 o ¥ S8H FIoddn S = (12 +2) M 5008 SrHedHd. so S556
t=35 500050 =55 ¢° & SRQPH D B0 T o) aore Sod 2008 D

Options :

, 8017

, 3207

5 2407

4 1607

Question Number : 88 Question Id : 1017175048 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An automobile of mass 500 kg accelerates. starting from rest when its engine supplies a
constant power of 1000 W. Its position with respect to time (t) is

G

1000 W 28 ardoggaoodo 8830 B odogo He 500 kg 5073 o o8 ei' 3088
Dfo 28 ob &dowo Bobs, sTeo (1) S)ry o Fdo

Options :

:
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Question Number : 89 Question Id : 1017175049 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Seven thin uniform circular discs of different masses and each of diameter 4 ¢ are arranged
in a planar hexagonal pattern as shown in the figure. The moment of inertia of the system
about an axis passing through the centre of the central disc and perpendicular to the plane is
kgm?
b -

DK BHgorHen Ko w8 EE 4 cm Tgdo Ko I8 BHE 868 [T HYHeo HLod

Srad Ao SHhde RENE ST’ eddudsd. HEy O Soo o Fer
tfl X

B8 wowom o ©Fg0 Syps Ig5Y BowE) 2dEs Erdvgo ke m?2
4 @ — €

QQ
Y Y

/\ /\
N

Options :

L 55 x 103
, 11 % 104
, 49 x 10-3

. 36 % 104

Question Number : 90 Question Id : 1017175050 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angular acceleration of a wheel is (12 —t) rad s—2. If the angular velocity of the wheel
1s 60 rad s~! at the end of 4 seconds. then the angular velocity and number of revolutions
made at the end of 6 seconds are respectively

2.8 Hgo By, FBch dedmo (12 —1) rad 52 4 DESoen FrEcigkos Hgo Sdos o

60 rod s71 won8, 6 DEDe S0 T §'B0% Ko Jodosn @b Bosw e Sopg

Options :
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-Cr
7T4rad st 1—
iL

f.;
74rad s7°, e

it

60rad s7*. @
3 T
—3 30

T

1

60rad s

Question Number : 91 Question Id : 1017175051 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A particle executes SHM along a straight line. At two positions. its velocities are ‘u”and “v’
while accelerations are o and [3 respectively. (B > o > 0). Distance between the two
positions 1S

2.8 ool D8 Jod 8.5.35. S° fed. Bodd PIBNO S SBB Eeahoo Sme ‘U’

28050 V), diderren o Sobcko B (B> 0> 0). & Bods FIBwe Hody ErBBw0

Options :
2 2
U +V

i o+

2 2
d —V

1 o+

2 2
=¥
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Orientation : Vertical
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3
A body is thrown up from the surface of the earth with a velocity equal to i th of the escape

velocity from the surface of the earth. The height attained by the body 1s

alw

w8 SPD g GH0Gwo Hod Py D), DercbsIHost

INOSHE ©b Fd Ik
Options :

19 o
20

Question Number : 93 Question Id : 1017175053 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum length of a copper wire which has density 8.94 g cm™ and breaking stress
3 » 108 N m2 so that 1t does not break when it is vertically suspended is

oS 8.94 g cm Hodohw0 DFES ©Suoo 3 x 108 N m2 §8498) o 81 Joorm
SrabdsH®, ©b BNFHoE wohb & &Y Koy FEY

Options :

| 7.70km
, 335km

; 33.5km

, 335 km

Question Number : 94 Question Id : 1017175054 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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A uniform cube of mass 6 g is floating on the surface of a water with ( %') th of its volume

immersed in water. The length of the side of the cube is

6 g |$530°8 He EE8 o0, S8 FSHBSrw oS’ (%) S S0 J&3es? S20QAS R, N
BB, odo BwE), Wao FEY

Options :

11cm

0.5 cm

12

4 cm

e

-
4 < cm

Question Number : 95 Question Id : 1017175055 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A tap supplies water at 10 °C and another tap supplies hot water at 100 °C. How much hot
water must be taken so that we get 20 kg of water at 35 °C.

28 Feron 10°C 3
SasoeoB)d. 35 °C

& &%) DB Hobosn H8 Teros 100 °C 3¢ &F) 38 B $8H0°
3 20

<
& &) 20 kg A8 FodLs shobd 3& A8 (@5go°3

Options :
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A solid floats in a liquid at 20 °C with 75% of its volume immersed in the liquid. When
the liquid is heated to t °C., 80% of volume of the solid 1s immersed in the liquid. If the
absolute expansion of the liquidis 8.33 » 107 °C™" then the temperature ‘t” is approximately
(Expansion of solid is negligible)

2§ 308 5539 20 °C 5§ &) G550 T5% 309058, G550 1°C & 38 B9
& 5009 80% S00dNSB. (BS HEB TS Mreossn 8.33 x 1077 °C wond ‘t Dend

Question Number : 97 Question Id : 1017175057 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sample of an ideal gas (y=1.4) is heated at constant pressure. If 80 J of heat 1s supplied
to the gas. the workdone by the gas is

6827
A
g0
on
A
(@
EA
t]

S w8 edd) Traind SHrado (Y=1.4) 38 Tvd. & sroinHs 80T o

DBHo® B TP [V B

Options :

12.8017
, 28621
1262817
, 22867
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Two carnot’s engines ‘A’ and ‘B’ are operated in succession. The first engine ‘A’ receives
heat at T; =800 K and rejects heat at T, K. The second engine receives heat at T, K and
rejects heat at T3 =300 K. If the work outputs of the engines are equal, the value of T, 1s

‘A 50805 ‘B’ e ot 567 cho@Snes of D EHOTE HTEE S HBieTIe.
3088 oPogsw ‘A, Ty =800 K 58 ¢ (firod Tr K 38 ¢axd) d380whos)s.

(o

Bods chogsn ‘B, To K 88 &) @orod, T3 =300 K 58 &) 2080505088,

) 3

L3

Boto oLoE@dwe wirdd Hdhew SSrddonsd T, Dewd

Options :

, 100K
, 300K
, 550K
, 700K

Question Number : 99 Question Id : 1017175059 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

n molecules (7 < 100) of a gas have speeds 1. 2. 3. 4. 5. .... n kms™ respectively. The rms
speed and average speed are in the ratio K : 1. Then K 1s equal to

a8 70509 BnE n wmoHo (n < 100) Sdoen Scdm 1, 2,3. 4.5, ... n kms™L,
ms $& $o8oho dfn e ARG K 1 @wod K dend
Options :

j A

\j(ZH +1)(n+1)
. 6

\/(2}? +1)(n—1)
3 6

2n+1

B f- T i
6(n+1)

Question Number : 100 Question Id : 1017175060 Display Question Number : Yes Single Line Question Option : No Option
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Two waves represented by X;=2sm(20xt) m and X, (70m + %) m are

superimposed. then the amplitude of the resultant wave

X, =2 sin (207t) m 508050 X, =28 (707t'[+ 3) m oF SorDowied Bok Sdomren

@Q‘gﬁ‘éaao DoBY, HO8 SZoK Eodd HBWHS

Options :

, 243 m
S\Em
3 4\/5111
4 5\/.:1 m

Question Number : 101 Question Id : 1017175061 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of a harmonic progressive wave propagating in a medium is given by
x =2sm2n(0.05y —3t) cm and ‘t’ is in seconds. The phase difference between two
particles of the medium having path difference 2 cm in the X - direction is

L2

28 FBrSE0S” P80V wE Ford)E HE A S0k  S0ESmdn X =2sin271(0.05y —3t)
cm So8oio ‘" DEogS® Hob. X- H¥S” 2 cm B¢ BEdonie Bot oirdE Swre Sogy ST
PEB00

Options :

1 36°
5 Ton
e
, 48°
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A light wave of frequency 75000 < 101° Hz in vacuum travels through two transparent slabs

of same thickness but made of different materials separately. The difference in the number
5 4
of waves in them is 400. If the refractive indices of the slabs are given by 3 and 3

respectively. then the thickness of the slabs is

Hedgoes” 75000 x 1019 Hz FS:dgo o 08 o8 HDodo, IS T 303383%

FESHE Jostw Hom IVT BS00DSHE FES'Y Sdore Sopges® BEo 400.
5 4

208050 = wond, Jove Nodo

¢ SrdE doge HEFSS Heester DT 3 3

Options :

1 0.72 mm

i 0.48 mm

5 0.24 mm

4, 0.68 mm

Question Number : 103 Question Id : 1017175063 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Young's double slit experiment, when the distance between the slits is Imm . the fringe
width 1s 0.6 mm. When the screen 1s moved through a distance of 25 cm. the fringe width
increases by 0.15 mm. The wavelength of the light illuminating the slits in nm 1s

chofl 2od NOF BArKoe”, DOSw By drdo 1 mm &Koy, H¢ Ideoy 0.6 mm
885 25 cm §607, HE Ieny 0.15mm 8A0s. DOSwD HEDE0 T 5708 S80KBY g0
nm e°

Options :

| 400
800
, 600

, 1200

L2
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A particle carrying a charge of 0.01 C in contact with a vertical wall 1s able to remain in
equilibrium when an electric field of 100 V! is applied normal to the wall. If the coefficient
of friction 1s 0.2 then the weight of the particle in newton is

AP FES voworr 100 V! §38 Ko 2868 285 od) HRrADSHE,
0.01 C ss3%50K0 S0, FER ©08 QHOVES” wokNdnod. o8 Hoeaddw
0.2 ®on8 Sk rdbdn Srgbos®

Options :

. 0.1
2. 0.3
, 0.4
4 0.2

Question Number : 105 Question Id : 1017175065 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of radius 0.5 m is at a potential of 300 V. The electric field on its surface 1s

nearly [ 47[16 =9x10°Nm*C™> J
0

0.5 m Tg@do Ko Ao 300 V »BASHS 3¢ wobd. T &H50800 D IS ¢ S

T ( :9><109Nm2C_2]
— | dneg,

Options :

1 600 V-1
_ 300 Vi1

]

; 800 V-1
A 400 V-1
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Two capacitors of equal capacity are initially uncharged. If one of the capacitors is connected
across a battery of 10 V. the energy stored in it 1s E. If the two capacitors are connected in
series across the battery. the total energy stored 1s

SLPormr Gwob, SSord IFRBen Ho Tol BrLIS’ el A 10 V ol $003H%

RS’ Jog wod ¥8 E. 98 J0¢r8 Bodk IPDLEN FBS° §005H%E Jeog ol Ingo

§

p——

(31N

€

Options :

| 4E
ZZE

E
7
E

B

Question Number : 107 Question Id : 1017175067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An infinite number of capacitors each of capacity 2uF are connected as shown in the figure.
The resultant capacity between A and B is

08788 2UF 38 Ko 0308308 Sopg e SFRLE SLoS" Srad Jdom §O0I760,
A 558050 B © $o8g $08 BIDE

Options :

, SHF
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4 ApF

Question Number : 108 Question Id : 1017175068 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the network shown in the figure. points A. B and C are at potentials of 70V.0 Vand 10V
respectively. Then the currents in the sections AD. DB. DC are in the ratio

HLBNS® Wrad Sodbind® A.B H08dhn C odhhe 5§ FBIAcHSL Jeoder SESm
70V, 0V S8csn 10 V. wond AD, DB. DC Fpo&® o d8gs ok A8
ov)
B
209
o AMM
A 100 D 30Q
C
Options :
AR
g 3 1251
w2143
a3 322
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[
The length of a potentiometer wire is */°. A cell of emfE is balanced at a length 3 from the

positive end of the wire. If the length of the wire increases by 2 then the new balancing

point 18

4
28 @"@Qaﬁrb&&ado 8K &Y I. ddogsampd wodn E fo Hodn ¢ 88 Sod 3

Erdoes® dogdn BobIH. 8 FEHo 20AS T8 SHeoghokod

I\)|\'

Options :

21

—_

-

]

b
—

S

Question Number : 110 Question Id : 1017175070 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Awire of length 30 cm carrying a current of 5 A 1s bent in the form of an equilateral triangle
which lies in the Z =0 plane. The magnitude of the torque on the bent wire if it is in a region

of uniform magnetic field of '40i Ti1s Nm.

5 A Qg (et 800cinS) a8 30 cm FEHre 8K Sderdv Bhersdod” Z=0
Bo0S* GoBbty Somd. Sounds SE%H 40]T Ko wf DE68 echimod Fos’
G008, TAR I Vo &), Nm.

Options :

| 0.707
- 0.866

A

-
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Question Number : 111 Question Id : 1017175071 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Electron beam of kinetic energy 182 eV moving along +X direction is subjected to a uniform
magnetic field at a point A as shown in the figure. The magnetic field acts along the line AB
and makes an angle of 60° with the X-axis. The minimum value of the magnetic field required
so that the electrons hit the point B at a distance of 22 cm from A 1s x 104 T.

(Mass of the electron = 9.1x1073! kg and charge of the electron = 1.6x1071° C)

1832 eV 1182488 +X HFS™ (o508 QULS;«EQ Do) HLoS® Irad Ao A Do
3¢ 2868 ©oid o8 FeRs K8 BT, waba o8 o AB Jowd wod X-egos® 60°
S0 ToSBHB. A $ood 22 cm SrdoS® Ko B Hothdhdo NOTSRAES ST 008, ©IHEI08
@I 08 FEH A dedd _ x 104 T

(VoS B350 =9.1x107! kg Sodasn JogsS edfo = 1.6x1077 C)

B

----- e i A e e 0 e e

A +X
Options :
. 4.5
9
3 6.5
2 TS5
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The magnetic field at a point P shown in the figure due to a straight wire of finite length
carrying a current of 5 A at a perpendicular distance of 1.5 m is

5 A D58 HITH) H0ME FEH o 8HY TFEo 08 1.5 m Er6os’ I8

e
0020 HL0S* FrdS Dot P g echamod (@ S5

A
30°
P
SA ﬁ 45°

B
Options :
| 496> 108 T
, 396 x10-10T
, 75 10-10T
, 300T
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A thin conducting rod MN moves with a velocity ‘v’ which is parallel to a long straight wire
carrying a current ‘1’ as shown in the figure. The length of the rod is normal to the length of
the wire. The nearer end of the rod 1s at a distance ‘a’ from the wire. Induced emf in the total
length of the rod 1s (length of the rod =b)

T dBogS PBBod) o8 DEBS 8 SK& dSrossor MN el S5 58 6§ V'
308 BLoS" WrdBLor SeuHd. 8§ FEY SX FEHSH vowor wobd. &KX Lod
5§ B, S8 TS dxdo ‘A’ §§ IngoS® LOSHSlg J.or.w.(emf) (8§ &y =Db)

P

v

M T N

-
cad>e—b —m

1 A

Options :

MFH|:1+E}

| 2m a
Ltﬂl{a—l-b]v
g DI 2

w[lgj
v CRA B

, Ze10 (208))

Question Number : 114 Question Id : 1017175074 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Choke coil 1s preferred to a resistor to adjust current in an ac circuit.
Reason (R) : Power Factor of an inductance is zero.

AHGo (A) : aAC J0NINGS” PIrHTrInd Srdnbigo ITFS0 ol (RO
G OBrHoTRL HoNE.

D38 (R) 1 (@885 BwE), Fdogy Measbn Ledgdw. gcqllegedunias



Options :

(A) and (R) are true. (R) 1s the correct explanation of (A).
(A). (R) en 28550, (R), (A) & 8BS D80

(A) and (R) are true. (R) 1s not the correct explanation of (A).
, (A). (R) o S50, (R). (A) 80 538 D580 576

(A) 1s true. (R) 1s false
, (4) v, (R) obsgio:

(A) 1s false. (R) 1s true
; (A) w8550, (R) 85850

Question Number : 115 Question Id : 1017175075 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The intensity of direct sunlight before it enters the earth’s atmosphere is 1.4 KW m—2. If it
is completely absorbed. and completely reflected the corresponding radiation pressures
are respectively

BogR $00d I IenSHES) Wrdgsro8 Frarerhdnod I8 (B330HE Swod T

8558 14kWmr2 & 508 Grom $aosnssnd 80 Frem $0°58so BodSHE

T D88 DTV S/
Options :

| 235'x 109 Nm2,4.7 x 10-¢Nnr 2
. 4.7 x 106 Nmr=2, 2.35 x 10 Nm—2
9.3 x 106 Nm—2, 4.7 x 106 Nm—2
, 47> 10 Nm2,9.3 x 10-6 Nm~>

w

Question Number : 116 Question Id : 1017175076 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A proton. deuteron and an o-particle are accelerated through potential differences of
V. 3 Vand 9V respectively. Then their velocities are in the ratio

ABogS F57pen V.3 ViSoasn 9V o &30 SEHIm [P, $ogliors H$o80500 0O- 800
$0038 B0 JobIHE T8 Ire ARG
Options :
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Question Number : 117 Question Id : 1017175077 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the properties of an electron of charge ‘e’ moving in the n™ orbit given in column A
with their dependency given in column B (according to Bohr’s atomic model)

a)
b)
c)
d)

Column A
Speed of the electron

Radius of the orbit of the electron
Kinetic energy of the electron
Angular momentum of the electron

1)

ii)
i)
1v)

Column B

To AST 0S8 1S §EgS7 §enhs) ‘e e3do fo Jogd oped ses B
2SRES TES 2EHE0WBR. (5760 DESre0 SJrTdH ©HdooN)

a)
b)
c)
d)

st A
Q@Ls;&‘p S
30@263 §§§ Fg@*’go

Do BwE), (8 ¥§

Jogd B, §dod ($5gEK0

The correct answer 1s

DO HIFTHBD

Options :

(a)

1.

v

(b) (c)

1 111

(d)

11

i)
1i1)

1v)

5To B
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Question Number : 118 Question Id : 1017175078 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A radioactive sample contains two types of radioactive nuclei A and B. Initially the number
of nuclei of A 1s twice that of B. Two hours later the number of nucle1 of A 1s equal to the
number of nuclei of B. If the half-life of B is 40 minutes. then the half-life of A is
minutes.

a8 BARBreoE Sog SHrs A H8cn B o3 otk 5o 3GErerd ) Somredd
SISV AT @ﬂéoejoef" A Sw¥), Sos e Sopg B GBwE), Sodste Sopgd 30, Sodd
fobe Ha8, A Qg Sodste dopg B Bw¥), Sodste dopgsh Sdovdo. B &g,
ed£assoo 40 IB8, A BwE), ©FEIS 570 QAT e

Q@ ——

Options :

, 30
20
; 60
4. 20

-2

Question Number : 119 Question Id : 1017175079 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the diodes are ideal. potential drop across the 10 Q resistor in the circuit shown 1s

DBICNS FSE 50

N

ped

NS S0coS’ ERr&en wdhossond, 10 Q TG0

e}

30

MW

2. N
A ol
N

10Q
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Options :

| 225V

5 TV
5 BV
, 25V

Question Number : 120 Question Id : 1017175080 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A TV transmission antenna and a receiving antenna are maintained at the same height to
cover entire region having population 3.14 million with an average population density
500 per sq.km. Then the height of each antenna 1s

(Radius of the earth =6 » 103 km)

56569 86 Wb wS Fogd 500 $OA 3.14 DOHF 2L Ko FoSH0EED HFE
H0BS°8 Bioso 3T o a8 TV 8 0050 (M58 woBTIoH of IKHS* ©508)T6.
@08 8§ 08 IR (Frd0 argargsor dewd =6 x 103 k)

Options :

, 41.6m
, 150 m

3 23.2m

78.4 m
4

Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1017175081 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. ; L .
The least possible angular momentum of an electron with/=3. m=0and s =+ is

]
[=3, m=05008050 $=+7 Jensos® HJ) DO E0Q 5805 (8550

Options : gcollegeduniag
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Question Number : 122 Question Id : 1017175082 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The frequency (in Hz) of the lowest energy line of Balmer series of hydrogen atom 1s:
(R = 109677cnr)

TPERS DO eridd @5 wigen 38 e B S50 (Hz 6°) (R=109677cor™)

Options :

| 4.57 x 101
4.57 x 1015

i)

, 457 x 108
, 457 x 101

Question Number : 123 Question Id : 1017175083 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In second period of the modem periodic table. the elements which have lower first ionisation
enthalpies than expected are

S 8IGS HPES'H TodS HBOHES, HED WOHIECN 0T & SrosTesd
008 ') o) &8y S €rodrron

Options :
N Be.B
, B.O

, C.N

, N.F |
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Question Number : 124 Question Id : 1017175084 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following pairs. hybridisation of the central atom is same but shapes are
different.

8od 280eS® E0H0E BoEE HESTY V5P V0808608 wotar, HY) BB O

O Er0tIPom.

Options :

g =
 NHj.CIO;

 BiF,. SF,

L2

, €0,.50,
, NH;.CI03

Question Number : 125 Question Id : 1017175085 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The correct statement in the following is:

8ol Qe BB wod DHGe:
Options :

SnCl, 1s more covalent in nature than SnCl,
SnCl, 508 SnCl % I8 SSoBredosd BgersSo otnod

CuCl1s more covalent in nature than NaCl

NaCl g0@ CuCl % SRR [ DBredoD 802750 €00k

KF is more covalent in nature than LiF

LiF 803 KF % SEDR A0Bredon B0e730 €roLN0od

w

KF i1s more covalent in nature than KI

KIgo@ KF & NEVR 30 Br2I0%0 8er°S50 €r0e00b

Question Number : 126 Question Id : 1017175086 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The Kinetic energy (in J) of 22g of CO, at—73°C is (R =8.314T K~ mol™)

—73°C 5¢ 22g CO,®B»s), rfé=48 (Jos®) (R=28.314 JK mol™)

Options :

. 1048.1

, 1247.1
, 11381

, 1427.1

Question Number : 127 Question Id : 1017175087 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is not a disproportionation reaction?

Bod TES* A0 wiH>rS 65 5°E?
Options :

 2H,0,——2H,0+0,

- Cl, +2KBr——2KC/ +Br,

L2

3C1, + 6NaOH——>5NaC/ + NaClO; + 3H,0

, Ss+12NaOH ——>4Na,$ +2Na,$,0; + 6H,0

Question Number : 128 Question Id : 1017175088 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One litre of an 1deal gas at a pressure of 10 atm expands isothermally and reversibly until
its total volume 1s 10 L. The work done in L-atm in this expansion is:

28 D88 wigiroing 10 atm SeEso S¢ HIrRS &G:S&,a’mﬁoﬁaorv awgo 10 L 856500
S68 rgFhodod. & agSdos® 20n Hd L-atm e

Options :

| —11.51

, 23.03

, —23.03
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Question Number : 129 Question Id : 1017175089 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At 440°C for the reaction

Hy(g) +1y(g) = 2HI ). the equilibrium constant. K is 49.0. If 0.3 mol each of H,and [,
are allowed to reactin a 10L vessel. at this temperature the concentrations of H,. I, and HI

in mol L respectively are

440°C ¢ Hyoy + 1) = 2HI ) S656s 9396798 §oroko, K deos 49.0. ad
&S 5¢ 10L g 0.3 Irden T338 H, $005m Lo Sgs S OB0SHE,

d0ed 5¢ H). 1,:508050 Hl © mdgen Scodm (mol L oe%)

Options :

10.07.0.07.0.46
10.07.0.04.0.32
10.04.0.07. 0.46
, 0.07.0.07.0.32

—_

1.3

Ll

Question Number : 130 Question Id : 1017175090 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many moles of StF, will dissolve in 1 L of water, if Kgp, of StF, is 3.2 » 10712

S1F, 3308, Kgp Dens 3.2 X 107 wons 1 L 38* aQ) e SIF, 800 &ot00d?

Options :

L 8.0 % 10712
) 2.0 % 10712

L 30107
2.0x 10

4
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When zeolite. which is hydrated sodium aluminium silicate. is treated with hard water the
sodium ions are exchanged with

%@%br@oi)o VORI OB »F B0BETH §65 8erd8 §O° SRS GBS FRODHO
WOITRLN AN ToD
Options :

H 1ons

| H easrSen
Ca*?ions
, Ca*?mairSen

SO~ ions

2

SO, ® OSTTQeN
OH ions
OH =dirSen

Question Number : 132 Question Id : 1017175092 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Magnesium is an important component of which biomolecule occuring extensively in living
world?

2358 PHoTENS® wdghHsomr ©fod LS BHnoHo Ipg Do wHd I6?

Options :
Haemoglobin

T RPN
Chlorophyll
gorad
ATP

Vitamin B 5

=3

DEIDOR E’.12

Question Number : 133 Question Id : 1017175093 Display Question Number : Yes Single Line Question Op .
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The metal with very low melting point (303 K) and high boiling point (2676 K) and 1s used
in high temperature thermometers is

wey (eS8 Fdo (303 K) 500080 wHE erdy

WE5S S0 (2676 K) S 505, ©BS
&de 6 hades® od S%ro

Options :

Al
Ga

1.

In
il

Question Number : 134 Question Id : 1017175094 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statements from the following:

a) CO,isused as fire extinguisher

b)  Si0, is commonly known as silica

¢) In Cgqthere are 20 five membered carbon rings and 12 six-membered carbon rings
d)  The distance between two layers of graphite is 340 pm

odH are3e5® HBGDS IO HJoWS0

a) COp;S Hobod wbrds o dedd

b) ?3635150@;@53)5563 T Ge0m DO wotrdd

c) Cg& 0¢h sdidend) Seoasren 20 50030 et s6)Send) Seosren 12 €oérmon
d) 2 Bod 5808, T Dy drdo 340 pm

Options :
, a.b.c

5 a.c.d

5 Dicd
a.b.d

4.

Question Number : 135 Question Id : 1017175095 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The correct order of maximum permissible levels of concentrations of sulphate (in ppm).
lead (in ppb) and nitrate (in ppm) respectively in drinking water is:

(ENES® HBYE (ppm ©&°), B& (ppb o), I@E (Ppm ©&5%)o ©HHB8oBEAS MES

0 Jrox 1800 SED[M

Options :

| 500. 50. 50

, 600. 60. 60
600, 75. 60

Lia

, 800. 100, 70

Question Number : 136 Question Id : 1017175096 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which extra element is not detected by Lassaigne’s test?

D ©E5H Hresd) Rl H0§ THo KH8oWE?

Options :

1S
2 N
;
s P

Question Number : 137 Question Id : 1017175097 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In ozonolysis of which of the following compounds. the products are formaldehyde.
acetaldehyde and glyoxal?

808 H¥Tree® BAD LE°VE600 MIQ, GTNT o6, IDErGers Sdosw
agden JBYEa~00?

Options :

; CH,=CH-CH,-CH=CH,

=

 CH,-CH,-CH=CH-CH,

:
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CH, =CH-C = CH—-CH;

|
CH,

CH,=CH-CH=CH-CH,
4. A

3

Question Number : 138 Question Id : 1017175098 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the ring deactivating groups from the following

Bod 77¢3e5° SoHAMHBEeE JSrTodn Hdowisw.

-NO NH, -NH-C-CH, -OCH ~COOH

2

(a) (b) (©) (d) (e)

Options :

a,b

i

) b.c

; &.¢

, c.d

Question Number : 139 Question Id : 1017175099 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An element crystallizes in bece lattice with cell edge of 200 pm. The density of element is
5.2g cm. What is the number of atoms present in 208g of this element?

28 Soregsn bec arogos® ©)iB888600 Sod 200 pm © woHPEHD $ON S0tn0h.

Sorosd Fods 5.2g cnr’. 208g © & Soresost &) HESTIe Hopg JoS?

Options :

| 2 %10
1x10%
3 5% 10%

a1 1024
' gcollegedunias
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Question Number : 140 Question Id : 1017175100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The observed depression in freezing point of solution when 9.75g of CH,FCOOH s dissolved
in 250 g of water is 1.0°C. The molal depression constant of water is 1.84 K kg mol .
What is the Van't Hoff factor?

9.75g CH,FCOOH %5 250 g Hi565* §0R0sSm DOYBS @S58 5030008 HOLSSLS
QN 1.0°C. H8 Irerd dSn HorosSw 1.84 K kg mol™. a0erD mHeagsn dos?

Options :

- 1.087
10.920
, 0.544
, 1.856

1

L2

Question Number : 141 Question Id : 1017175101 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solution confains 25% (w/w) of benzene in CCl 4 The mole fractions of benzene and

CCl, in this solution respectively are:

(mol.wt of benzene = 78: mol.wt of CCl, = 154)

25% (W/iw) Bo#sS o CCl | mrs0os® Bods Hoasn CCl o 3rd grmen SO :

—~~

BoZa wenerdo = 78. CCl4ﬁszeme_ydo =154)

Options :

. 0.384.0.616
, 0.397.0.603
1 0.458.0.542

0.306. 0.694

Led

4

Question Number : 142 Question Id : 1017175102 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The emf of the cell is Cu/Cu?™ (0.1 M) // Ag (0.1 M)/ Agis:
(E° of Cu®* / Cu=+0.33V:E° of Ag" /Ag= +O.80V)

Cu/Cu? (0.1 M) // Ag™ (0.1 M) / AgHotr0 @Bog), emf Hensd :

( Cu?* /CuE° »

Options :

| 0.40V
, 044V
5 047V
, 046V

oJ

eo=+0.33V:Ag" / AE® denss = +0.80V )

Question Number : 143 Question Id : 1017175103 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the given reaction
A +B — products. the following data is obtained.

A+ B — §osrasrgen, & I6g50 (od daozren 95iaddd

Initial concentration Initial rate
(G085 meeses Cjefelats) MelAv
Mol L1 Mol L. s
[A], [B], _
0.1 0.1 0.05
0.2 0.1 0.1
0.1 0.2 0.05

The rate constant of the reaction is

& $6g BooE), Bewo Q0085

Options :

|

i)

3

Jos
05571
105
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Question Number : 144 Question Id : 1017175104 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The following graph was obtained for adsorption of a gas on solid surface. The correct

= . X . . .
order of temperature (T) is: o~ quantity of gas adsorbed per unit mass of solid adsorbent:

p = pressure of gas)

w8 08 ¢I0Swon WHINN0 ToHS JroINHE (od D ©Hodod. SBFToS

X r. =
g (T) FHdn: (Hi = 5708 |$550°8 Mo HJ wHTison whFTAwo Tohd

T°050 D050, P = T0%0 HES0)

- Bl

Options :

T;=L=T,
LZzT2T;
, L =0L=14
. T,=T.,=1,

Question Number : 145 Question Id : 1017175105 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The composition of the ore malachite is:

Sn&PJuo Sresd Howdrdo:

Options :

CuCO,
1. 1 £
gcollegedumae



; CuCO,-Cu(OH),
: CukeS,

FeCO,
4

Question Number : 146 Question Id : 1017175106 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A):  Hypophosphorous acid reacts with aqueous silver nitrate to form H;PO,.
HNO, andAg

Reason (R):  Hypophosphorous acid is a monobasic acid

Ao (A): TR w30 DeOgs 3BE aoErdpes’ $ogFods H,PO,. HNO,
50050 Ag o JBYESE
5600 (R):  FT&Ford)sd eso o8 DEFTES 335350

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 528053 (R) en Todr §8:5a 80w (A) & (R) 888 D56
1.

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
. (A) $0805» (R) en Bodor $88D $08a50 (A) % (R) 988 2560 5760

(A) 1s correct but (R) 1s not correct
. (A) 5386 570 (R) 8886 57

(A) 1s not correct but (R) 1s correct
, (A)BTS6 575 53 (R) 5058

Question Number : 147 Question Id : 1017175107 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sodium hydroxide on reaction with anhydride (X) of sulphurous acid forms a sulphur
compound Y. Y on reaction with excess of SO, forms a compound Z. X. Y and Z are
respectively

RFR00 TTEFE Somgst sijo BwY), u3rEe (X) & S6gTod, d0yb ddyEso Y
S 2. Y eds SO,8 $6gF0d Z ko $50¢dod auy. X, Y. Z oo 56004

Options : ]
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SO,. Na,50,. NaHSO,

1
SO,.NaHSO,. Na,SO,

L2

_ SO,.NaHSO0,. Na,SO,

SO,.Na,SO,. NaHSO,
Bs -

Question Number : 148 Question Id : 1017175108 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The noble gas compounds produced in the following reactions are respectively

BoB WEgLS® IOVAS ey ToINHe JoyFTen SEHH

A)  XeF,+0,F,——

B) XCFG +3H20—)

Options :

| XeFﬁ. XEO3
| XeFﬁ. XeOF 4
. XeO,F,. XeOF,

1

XeO,. XeO,F,
4. : 22

Question Number : 149 Question Id : 1017175109 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the linkage 1somers from the following:

Bob ¢3S w06 (O082) FEFgsos HBowWSw.

Options :

 [Co(NH,); SO,]Br & [Co(NH,), Br]SO,

_ [Co(NH,), NO,]CL, & [Co(NH,), ONO]CL,

; [CoNH,)] [Cr(CN)s] & [Cr(NH,)s] [Co(CN)4]

, [Cr(H,0),] CL, & [Cr(H,0); CIICL, H,0

:
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Question Number : 150 Question Id : 1017175110 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. : X -2 . .
The spin only magnetic moment of [l\-hlBl‘J,] 1s 5.9 BM. Predict the geometry of the
complex ion

[MnBr4]-2 Q)R wprdd woHIy o8 ErSso dwd 5.9 BM &

N
O
3a9
PoA

) BOirY B8,
g8 HoWok.

Options :
Square planar

HIEe SEEHO
Octahedral

S g (1]

Planar triangular
Hdde | BFDHoho
Tetrahedral

BT TGS

Question Number : 151 Question Id : 1017175111 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following
1808 T BSHEWBN

List-1 List-1I

erdee - | erde - 11

A) Glyptal D ©/ ,CH,0
o
: HO
B) Bakelite I) Hooc —©— CcooH, ""NoH

BEBE
COOH 1.
C) Buna-S m) @( LT
20gS-S COOH |,
D) Dacron IV) H,C=CH-CH=CH,.CH-CH=CH,
BE°R
V) HOOH\/\/\ PN NPT IRGHE T
COOH H,N
The correct answer 15
HOGDS DI HI0
Options :
A B C D
! Vv I i
A B C D
, I I il A%
A B C D
I il Vv vV
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H
= 0
= o

Question Number : 152 Question Id : 1017175112 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statement from the following.

Bob 77e3e5° BB DB HBoWHW
Options

D-glucose gives Schiff’s test

D-5r8°&, o) HB8% adod

Fructose 1s a non-reducing sugar
W88, §00860 I 6 52

Maltose is a disaccharide of D-glucose and D-galactose
SreE (L) D-#ir8°&, D-rofEe 37504

w

D-glucose and L-glucose are enantiomers
D-iir8°%&, L-6ir8&en DTYFDTSE

Question Number : 153 Question Id : 1017175113 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Nardil (X) and histamine (Y) among the following are:

8§08 a7¢3e5* 36aS (X) 08030 Hand (Y) ew

t"" ﬂ

Options :

:
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I

NH,
X
O NHNHCH(CH,),
o
N
3.
X
SO,NH,
NH,
i 2

)
-

Question Number : 154 Question Id : 1017175114 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The drug that inhibits the synthesis of prostaglandins 1s

@PToRIL H0338d $AoT o

Options :

Valium

SO0535

]
E‘-.
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Cimetidine
5308383

Question Number : 155 Question Id : 1017175115 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The order of dipole moment of methyl halides 1s:

RS FBGL BYIEHD s Eoo:

Options :

CH3I > CH_},BI’ > CH3F = CH3C]

[

CH;C/ > CH;F > CH;Br > CH,I
4

Question Number : 156 Question Id : 1017175116 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Swarts reaction among the following 1s

Bod 7¢3e5° ey WA

Options :

x=o

R Cl+Na1%R-I+NaCl

@
R-CN+S8SnCl, + HCl—— R -CH = NOH—=2 R —CHO

R-X+R'-ONa— sR—O—R’'+NaX

w

R—Cl+ AgF—= 3R —F + AgCl

Question Number : 157 Question Id : 1017175117 Display Question Number : Yes Single Line Question Op .
Orientation : Vertical collegedunla



Isopropyl benzene U9 __ Ry
i) H /H,0

CHC[_?)"P‘I'?‘NaOH >Z (Major product)
1

*Z’ in the above sequence of reactions 1s

= = i) O = =
DF@HS BosS — 22 x4y
= ii) H™ /H,0

X 1) CHCI; / =e> NaOH
; i) H”

>Z (HT°d e&)$)o)
2 SorgE00St 27 wdods

Options :

OH

t . COOH
1.

OH

CHO

Ci
éj/ CHO

OH

OH

Question Number : 158 Question Id : 1017175118 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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phenyl hydrazine but not with Tollens reagent. X is

An organic compound “X" is oxidised by chromic anhydride to form “Y’. Y reacts with

X' o3 Do@oH 3¢S0 FNS ISTBES w§i50w0 Fod Y & adnd. Y 935

o oJ

E RS T Fofd) 57 LBy 57080S° FOgT 0. X @I

Options :

~ (CH,),C0
(CH,),CHOH

_ CH,COOH

, CH,CH,OH

Question Number : 159 Question Id : 1017175119 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The order of acidity of the following compounds is

Bod oo ey dgerd 1§50

COOH COOH COOH CH,COOH
o ©
NO, NO,
(a) (b) (c) (d)
Options
c>d>a=>b
ﬁcbb}a?d
id?cba}b
4b?C?d}H

Question Number : 160 Question Id : 1017175120 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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In the presence of alcoholic KOH. a primary amine reacts with chloroform and gives
compound “A’. which also forms as major product by the reaction of X with alkylhalide.
Aand X are respectively.

wey :5%0§ KOH dS5050e5, 2.8 @35}6 DS §F o S6gToh ‘A’ vl BAFTQ)
oSN, eF S FBES X I6gudhiHnd A P ehHKom Srd 2606,
A 0050 X en S80dHm

Options :

~ RNC.KCN
RCN.AgCN
RNC., AgCN
RCN.KCN
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